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1. If one producer has the absolute advantage in the production of all goods, then that sane producer will have the comparative advantage in the
production of all goods as well. '
A binding price ceiling causes quantity demanded to be less than quantity supplied.
A nation with a trade surplus will necessarily have domestic investment that is greater than domestic saving.

A rightward shift of the short-run aggregdte-supply curve results in a more favorable trade-off between inflation and unemployment.
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The more inelastic are demand and supply, the greater s the deadweight loss of a tax.
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1. The difference between social cost and private cost is a measure of the

(A) loss in profit to the seller as the result of a negative externality.  (B) cost of an externality.

(C) cost reduction when the negative externality is eliminated. (D) cost incurred by the government when it intervenes in the market.

2. Which of the following statements is nof correct?

(A) The competitive firm produces where P=MC. (B) The monopolist produces where P = MC.

(C) The competitive firm produces where MR = MC. (D) The monepolist produces where MR = MC.

3. If the price elasticity of demand for a good is 0.8, then which of the following events is consistent with a 4 percent decrease in the quantity of the

good demanded?

(A) a 0.2 percent increase in the price of the good (B) a 3.2 percent increase in the price of the good
(C) a 4.8 percent increase in the price of the good (D) a 5 percent increase in the price of the good

4 The nominal interest rate is 3.5 percent and the inflation rate is 2 percent. What is the real interest rate?

{A) 7 percent {B) 5.5 percent

(C) 1.75 percent (D) 1.5 percent

5. Ifthe reserve ratio is 12.5 percent, then $2.000 of additional reserves can create up 1o
(A) $8,000 of new money. {B) $16,000 of new moncy.

(C) $32,000 of new money. (D) None of the above is correct.

6.  Which of the following statements regarding the consumer price index and the GDP deflator is correct?
(A) The two price measures are always equal. (B) Divergence between the two price measures is the rule, not the exception.

(C) Divergence between the two price measures is the exception, not the rule. (D) None of the above is correct.

7. Other things the same, as the price level rises, the real value of a dollar
(A) rises, and interest rates rise. (B) rises, and interest rates fail.
(C) falls, and interest rates rise. (D) falls, and interest rates fall.

8.  Consumer surplus

(A) is closely related to the supply curve fora product.

(B) is represented by a rectangle on a supply-demand graph when the demand curve is a straight, downward-sloping line.
(C) is measured using the demand curve for a product.

(D) does not reflect economic well-being in most markets.

9. A firm that has little ability to influence market prices operates ina

(A} competitive market. (B) strategic market. 2&3%{%@@&]@”

(C) thin market. (D) power market. Exam Printed on 2 sides.

10. If people can be prevented from using a certain good, then that good is called
{(A) tival in consumption. (B) excludable.

(C) a common resource. (D) a public good.
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